Significant Figures

.The number of digits in a measurement about whicn

we are certain and one additional digit which has an
element of uncertainity are known as significant
figures.

Rules for determining the number of significant
figures |

. All non zero digits are significant. (nngjﬂgp(Um) oL TREN

gl Madleanit meayagem). €.g. 45.75 has 4 Slgnlﬁcant
figures: But 0.0012 has 2 significant figures.

. All zeros in between two non zero digits are
Signiﬁcant («;JQSQJQ@JJ(UIU) oam Moa&8305 DSULIUGHM oDEp
0 126TBB0 (rmc)mhmee)(raoasm“) e.g. 400 07 km has 5 Slgnlf-
icant figures. |

. The zeros between decimal point and the left of
the first non zero d1g1t of the dec1mal number are
not Slgmﬁcan’[ (dwlas emmﬂrré(ﬂm eWco (G@Q]o m(agm) o138)2820M
apeaTng 2300a008 (ieam wmed middddeany). €.8. 0.00142
~and 0.142 has three significant figures. l 42 X 1(T3
has three significant ﬁgures |

. Ifthe given number does not contain a decimal point,
the final zeros are not significant. But if the number
obtained is on the basis of an actual measurement,
“all zeros to the right of the last non zero digit are

| Signiﬁcant.(m)omj@]mﬁ oMt e DoRHIT ERANINOTN aljWemd
@R[ WIM26T, ERGNIIAIN] MUMVARS MoAY@INMBI0] ERAITVIN A EYEB (alWIM

o). €., 2500 has two significant figures. But 2500 kg has
4 mgmﬁcant figures. 2.5 x 10° kg has two 31gn1ﬁcant
figures. . ‘

. If the number has an 1ntegra1 part and a deg;lmal

part, all zeros in the number are significant.(nte-
‘gral part go owMianh adsle QOMBIT WPEP R Luwamswgmsm“)

e.g. 154.0 mm has 4 significant ﬁgures 154 OO cm
has 5 31gn1ﬁcant ﬁgures | ,



The number of significant ﬁgures in 0. 07600 is:
Ans: 4

The mass =4.237 g, volume=2. 5 cm3 The den31ty

of the body in correct significant figures is

(a) 1.6948 gem™ (b) 1.69 gem
(c) .7 gem® (d) 1'.695'gcm-3,_'
- Ans: (¢) :

.The number of s1gmﬁcant ﬁgures for the numbers
52.041, 0.005 and 4.2 x 10~ respectively are
(a)5 52 (b)4 4,2 (c)S 1,2 (d)S 1 S
Ans: (¢) 5, 1; 2 ‘
‘What is the number of s1gmﬁcant figures in the—
numbers 0.123 cm and 0.0123 cm -
| (a) 4 -~ (b) 3 (c) 2 (d) 0
Ans: (b) 3 | B
Find the value of 3. 6 X 10'6—4 0 X 10'4 w1th regard
to significant fisures.
(a) 3.964 x 10 (b) 3.9 x 10
©40x10% ~  (d)3.96x -10—4
Ans: (¢) 4.0 x 10
How many s1gmf1cant figures are there in
12300 mm"
- (a) 5 (b) 2 (c) 4 | (d) 3
Ans d)3
The sum of the numbers 325. 75 178 3 and 0.301
should be rounded off to four significant ﬁgures

C (2)504351  (b)50435 (c) 5044 (d)5043
Ans: (c) 504.4 - o '



